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DATA EN TRY OPERATIONS

( The ory )

S>mQ>m EßQ¥>r gßMmbZ
( {g’m›V )

(336)

Time : 2 Hours ] [ Max i mum Marks : 40

g_` : 2 K Q>o ] [ nyUm™H$ : 40

Note : All questions are compulsory and carry marks as indicated against each

question.

{ZX}e> : g^r ‡ÌZ A{Zdm`© h¢ Am°a ‡À òH$ ‡ÌZ Ho$ AßH$ gm_Zo {XE JE h¢ü&

1. Fill in the blanks : ½×10=5

[a∫$ ÒWmZm| H$s ny{V© H$s{OE :

(a) The _____ command in the menu bar is used to access the bullets and

numbering dialog box.

_oZy ~ma na _____ H$_mßS> H$m Cn`moJ ~wboQ≤>g Am°a Zß~[a®J gßdmX ~m∞äg na nh˛±MZo Ho$ {bE {H$`m
OmVm h°ü&

(b) FTP is used to promote _____ files.

FTP H$m ‡`moJ _____ \$mBÎg H$mo ~ãT>mdm XoZo Ho$ {bE {H$`m OmVm h°ü&

(c) An _____ is a system software that provides an interface for a user to

communicate.

_____ EH$ Eogm {gÒQ>_ gm∞‚Q>do`a h° Omo Cn`moJH$Vm© H$mo gßdmX H$aZo Ho$ {bE EH$ BßQ>a\o$g ‡XmZ
H$aVm h°ü&

(d) When you start the computer system, the task bar appears _____ on the

screen.

O~ Amn Hß$fl`yQ>a ‡Umbr ewÍ$ H$aVo h¢, Vmo H$m`© n≈>r ÒH´$sZ na _____ ‡H$Q> hmoVm h°ü&

(e) Check _____ if you want the gridlines dividing the cells to be printed on

the page.

`{X Amn MmhVo h¢ {H$ gob H$mo {d^m{OV H$aZo dmbr J´rS>bmBZoß n•> na q‡Q> hmoß, Vmo _____ H$m M`Z
H$s{OEü&
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(f) _____ is an input device in which voice is used as input.

_____ Eogm EH$ BZnwQ> {S>dmBg h° {Og_| BZnwQ> Ho$ Í$n _| AmdmO H$m Cn`moJ hmoVm h°ü&

(g) CPU stands for _____.

CPU H$m nyam Zm_ _____ h°ü&

(h) The standard protocol used for sending e-mail is called _____.

B©-_ob ôOZo Ho$ {bE _____ _mZH$ ‡moQ>moH$m∞b BÒVo_mb {H$`m OmVm h°ü&

(i) _____ view can be used to enter text on the slides easily.

ÒbmBS≤>g na AmgmZr go Q>oäÒQ> {bIZo Ho$ {bE _____ Ï`y BÒVo_mb {H$`m OmVm h°ü&

(j) _____ devices accept data and instructions from the user.

_____ CnH$aU Cn`moJH$Vm© go S>oQ>m Am°a {ZX}e ÒdrH$ma H$aVo h¢ü&

2. State True or False : ½×10=5

ghr `m µJbV {b{IE :

(a) Computer Language FORTRAN is used to solve scientific and

mathematical problems.

Hß$fl`yQ>a ^mfm \$moaQ¥>Z (FOR TRAN) d°km{ZH$ Am°a J{UVr` g_Ò`mAm| H$mo hb H$aZo Ho$ {bE ‡`moJ
{H$`m OmVm h°ü&

(b) OCR stands for Optical Character Reader.

Amo0 gr0 Ama0 H$m nyam Zm_ Am∞pflQ>H$b H°$aoäQ>a arS>a h°ü&

(c) Operating System is an application software.

Am∞naoqQ>J {gÒQ>_ EH$ EopflbHo$eZ gm∞‚Q>dò a h°ü&

(d) Restore means the deleted file we sent back to the previous location.

[aÒQ>moa H$m AW© h°, ZÔ> ({S>brQ>) H$a Xr JB© \$mBb H$mo h_ {nN>bo ÒWmZ na dmng ^oO gH$Vo h¢ü&
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(e) File management in Windows can be done through Windows Explorer.

qdS>moµO _| \$mBb ‡~ßYZ qdS>moµO Eägflbmoaa Ho$ _m‹`_ go {H$`m Om gH$Vm h°ü&

(f) You cannot use custom dictionary to remove a word.

EH$ dS>© H$mo hQ>mZo Ho$ {bE Amn H$ÒQ>_ e„XH$mof H$m Cn`moJ Zht H$a gH$Vo h¢ü&

(g) Click the edit button to print the worksheet.

dH©$erQ> _w{–V H$aZo Ho$ {bE gßnm{XV ~Q>Z na päbH$ H$s{OEü&

(h) Using the contrasting colors for the text and background of slides is not a

good practice.

nmR> Am°a ÒbmBS> H$s n•>^y{_ Ho$ {bE {df_ aßJ H$m ‡`moJ EH$ A¿N>m A‰`mg Zht h°ü&

(i) SMTP stands for Post Office Protocol.

SMTP H$m nyam Zm_ nmoÒQ> Am∞{\$g ‡moQ>moH$m∞b h°ü&

(j) File transfer procedure is a commonly used protocol for exchanging files

over any network.

\$mBb ÒWmZmßVaU ‡{H´$`m, {H$gr ^r ZoQ>dH©$ na \$mBbm| Ho$ AmXmZ-‡XmZ Ho$ {bE Am_Vm°a na BÒVo_mb
{H$`m OmZodmbm EH$ ‡moQ>moH$m∞b h°ü&

3. Define the following terms (any two) : 1×2=2

{ZÂZ{b{IV nXm| H$mo n[a^m{fV H$s{OE (H$moB© Xmo) :

(a) Output Device

AmCQ>nwQ> {S>dmBg

(b) Cell

gob

(c) Word Processing Application

dS>© ‡mogoqgJ EopflbHo$eZ
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4. Write short notes on the following : 2×5=10

{ZÂZ{b{IV na gß{j· {Q>fln{U`m± {b{IE :

(a) Operating System

Am∞naoqQ>J {gÒQ>_

(b) Data Source

S>oQ>m ÚmoV

(c) File Management in Windows

qdS>moµO _| µ\$mBb _°ZoO_|Q>

(d) Slide Show View

ÒbmBS> emo Ï`y

(e) HTML

EM0 Q>r0 E_0 Eb0

5. Differentiate between the following : 2×5=10

{ZÂZ{b{IV Ho$ ~rM AßVa {b{IE :

(a) Web site and Web page

do~gmBQ> Am°a do~noO

(b) Normal view and Slide sorter view

Zm∞_©b Ï`y Am°a ÒbmBS> gm∞Q>©a Ï`y

(c) Assembly language and High level language

Agoß„br b¢ΩdoO Am°a hmB© bodob b¢ΩdoO

(d) Copying text and Moving text (cutting)

H$m∞nrq`J Q>oäÒQ> Am°a _yqdJ Q>oäÒQ> (H$qQ>J)

(e) Smart graphics and Auto shapes

Ò_mQ>© J´m{\$äg Am°a Am∞Q>mo eoflg
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6. Answer the following :

{ZÂZ{b{IV Ho$ CŒma Xr{OE :

(a) Mr. Sharma is working in an organization as Office Assistant and he has

created one MS-Word document. Now, he is unable to perform the

following task, help him to do so by writing the steps : 2×2=4

(i) Save the documents by the file name as ‘Finalterm’

(ii) Print the document

lr e_m© H$m`m©b` ghm`H$ Ho$ Í$n _| EH$ gßJR>Z _| H$m_ H$a aho h°ß Am°a C›hm|Zo EH$ MS-dS>©
XÒVmdoO ~Zm`m h°ü& A~, do {ZÂZ H$m`© H$aZo Ho$ {bE Ag_W© h°ß, C›h| H$X_ {bIH$a Eogm H$aZo Ho$
{bE _XX H$s{OE :

(i) "Finalterm' Ho$ Í$n _| \$mBb Zm_ go XÒVmdoOm| H$mo god H$s{OE

(ii) XÒVmdoO H$mo q‡Q> H$s{OE

(b) Based on the following data, find the values of the expressions : 1×4=4

{ZÂZ{b{IV Am±H$ãS>m| Ho$ AmYma na Ï`ßOH$m| Ho$ _mZ kmV H$s{OE :

20 15 4 5

33 10 24 24

23 4 32 2

4 7 8 20

(i) = (D1*2/D3) – A4

(ii) = B2*(C2/3 – A4)

(iii) = SUM(A1 : D1)/4

(iv) = MAX(A1 : D4)*MIN(A1 : D4)

H H H
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